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g_mOemñÌ 

SOCIOLOGY  

 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 7 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na {bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >25 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• _| 
10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 7 printed pages.  

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 25 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) àíZm| H$s Hw$b g§»`m 25 h¡ & 

(ii) g^r àíZ A{Zdm`© h¢ & 

(iii) àíZ g§»`m 1 – 14 VH$ bKw-CÎma dmbo àíZ h¢ & àË`oH$ àíZ Ho$ 2 A§H$ h¢ & BZ_| go 
àË`oH$ àíZ H$m CÎma 30 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 

(iv) àíZ g§»`m 15 – 21 VH$ XrK©-CÎma dmbo àíZ h¢ & àË`oH$ àíZ Ho$ 4 A§H$ h¢ & BZ_| go 
àË`oH$ àíZ H$m CÎma 80 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 22 – 25 VH$ A{V XrK©-CÎma dmbo àíZ h¢ & àË`oH$ àíZ Ho$ 6 A§H$ h¢ & BZ_| 
go àË`oH$ àíZ H$m CÎma 200 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & àíZ g§»`m 25 H$m 
CÎma {XE JE AZwÀN>oX Ho$ AmYma na XoZm h¡ & 

General Instructions : 

(i) There are 25 questions in all. 

(ii) All questions are compulsory. 

(iii) Questions no. 1 – 14 are short-answer type questions carrying 2 marks 

each. Answer to each question should not exceed 30 words. 

(iv) Questions no. 15 – 21 are long-answer type questions carrying 4 marks 

each. Answer to each question should not exceed 80 words. 

(v) Questions no. 22 – 25 are very long-answer type questions carrying  

6 marks each. Answer to each question should not exceed 200 words. 

Question no. 25 is to be answered on the basis of the passage given. 

1. {d-g§ñH¥${VH$aU Š`m h¡ ? 2 

What is de-Sanskritization ? 

2. àË`j Ed§ à{V{Z{Y bmoH$V§Ì _| AÝVa ~VmBE & 1+1=2 

Differentiate between direct and representative democracy. 
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3. Añn¥í`Vm H$m AW© Š`m hmoVm h¡ ? 2 

What is meant by untouchability ? 

4. bmoJm| H$mo amoµOJma H¡$go {_bVm h¡ ? 2 

How do people find jobs ? 

5. nma-amîQ´>r` {ZJ_ Š`m hmoVo h¢ ? 2 

What are trans-national corporations ? 

6. \$mo{S>©µÁ_ Zo dñVwAm| Ho$ CËnmXZ Am¡a {dnUZ ì`dñWm (~mµOma H$s ì`dñWm) H$mo {H$g Vah 
go à^m{dV {H$`m h¡ ? 2 

In what ways has Fordism influenced the production and marketing of 

goods ? 

7. ^maV _| OZOm{V`m| H$m dJuH$aU {H$g àH$ma hþAm h¡ ? 2 

How have tribes been classified in India ? 

8. B{Vhmg Ho$ {d{^Þ H$mbm| _| _{hbm Am§XmobZm| Ho$ _w»` _wÔo Š`m Wo ? 2 

What were the major issues taken up by women’s movements in different 

periods of history ? 

9. {d{Zdoe eãX H$m AW© Š`m h¡ ? 2 

What is the meaning of the term Disinvestment ?  

10. AÝ` {nN>‹S>o dJm] (Amo.~r.gr.) H$mo n[a^m{fV H$aZo Ho$ _mZX§S> Š`m h¢ ? 2 

What are the criteria used for defining OBCs ? 

11. H$m°nm}aoQ> g§ñH¥${V Zo g_mO H$mo {H$g àH$ma n[ad{V©V {H$`m h¡ ? 2 

How has corporate culture transformed society ? 

12. gpãgS>r Am¡a g_W©Z H$s H$s_Vm| Ho$ _Ü` H$m AÝVa ~VmBE & 1+1=2 

Differentiate between subsidies and support prices. 
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13. gm_m{OH$ Am§XmobZ gm_m{OH$ n[adV©Z go {H$g àH$ma {^Þ h¢ ? 1+1=2 

In what ways are social movements different from social change ? 

14. Ka _| {H$`m OmZo dmbm H$m ©̀ (ì`dgm`) AW©ì`dñWm H$m EH$ _hÎdnyU© ^mJ h¡ & CXmhaU 
Xr{OE & 2 

Home based work is an important part of the economy. Give examples. 

15. Cn{ZdoedmX go Om{V ì`dñWm _| Š`m n[adV©Z AmE ? 4 

What changes did colonialism bring about in the caste system ? 

16. gm§ñH¥${VH$ {d{dYVm Š`m hmoVr h¡ ? amÁ` AŠga gm§ñH¥${VH$ {d{dYVm Ho$ à{V g§Xoh Š`m| 
aIVo h¢ ? 1+3=4 

What is cultural diversity ? Why are States often suspicious of cultural 

diversity ? 

17. ‘‘73dm± Am¡a 74dm± g§emoYZ dmñVd _| _{hbmAm| H$mo A{YH$ma XoZo (EÝµ\«|$MmB©qµOJ) H$s Va\$ 

EH$ ~‹S>m H$X_ Wm &’’ {Q>ßnUr H$s{OE & 4 

   AWdm 

 H$B© OZOmVr` joÌm| _| V¥U_yb (_yb ñVa) bmoH$V§Ì H$s EH$ g_¥Õ na§nam ahr h¡ & ì`m»`m 
H$s{OE & 4 

 

‘‘The 73rd and 74th Amendments were a big step indeed in enfranchising 

women.’’ Comment. 

     OR 

Many tribal areas have had a rich tradition of grassroot democracy. 

Explain. 

18. AZwîR>mZm| Ho$ n§W{Zanoj Am`m_ n§W{ZanojVm Ho$ bú`m| go n¥WH²$ hmoVo h¢ & ì`m»`m H$s{OE & 4 

Rituals also have secular dimensions, as distinct from secular goals. 

Explain. 
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19. _{hbm Am§XmobZ H$m Xÿgam MaU Omo {H$ 1970 Ho$ XeH$ Ho$ _Ü` _| Wm, _| CR>mE JE _wÔo 
Š`m Wo ? 4 

What were the issues taken up by the women’s movement in the second 

phase i.e., mid-1970s ? 

20. ‘‘^maV _| ì`mnma Am¡a dm{UÁ` H$mo Om{V Am¡a ZmVoXmar Ho$ g§Omb (ZoQ>dH©$) Ûmam g§Mm{bV 

{H$`m OmVm h¡ &’’ {ddoMZm H$s{OE & 4 

‘‘Trade and commerce operate through caste and kinship networks in 

India.’’ Discuss. 

21. gm§àXm{`H$Vm Š`m h¡ ? `h VZmd Am¡a qhgm H$m AmdV©H$ (recurrent) òmoV Š`m| h¡ ? 

Cn ẁŠV CXmhaU XoVo hþE {ddoMZm H$s{OE & 4 

  AWdm   

 Aëng§»`H$ g_yh Š`m hmoVm h¡ ? Aëng§»`H$m| H$mo amÁ` Ho$ g§ajU H$s Amdí`H$Vm Š`m| 

hmoVr h¡ ? 4 
 

What is communalism ? Why is it a recurrent source of tension and 

violence ? Explain by giving suitable examples. 

  OR 

What is a minority group ? Why do minorities need protection from the 

State ? 

22. Cn{ZdoedmX Zo h_mar qµOXJr H$mo {H$g àH$ma à^m{dV {H$`m h¡ ? Cn ẁŠV CXmhaUm| g{hV 

ì`m»`m H$s{OE & 6 

In what ways has colonialism affected our lives ? Explain with suitable 

examples. 

23. {àÝQ> _r{S>`m na ^y_§S>brH$aU Ho$ à^mdm| H$s {ddoMZm H$s{OE & 6 

Discuss the effects of globalization on Print media. 
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24. ñdV§ÌVm Ho$ ~mX gaH$ma Zo H$m¡Z-go _hÎdnyU© ^y-gwYma H$mZyZm| H$mo ewê$ {H$`m Wm ? 6 

What were the major land reform laws introduced by the government 

after Independence ? 

25. ZrMo {XE JE AZwÀN>oX H$mo n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 

OZg§»`m H$s d¥{Õ H$s Xa ^aU-nmofU Ho$ g§gmYZm| Ho$ CËnmXZ _| hmoZo dmbr d¥{Õ H$s Xa go 

gXm AmJo ahVr h¡; Bg{bE g_¥{Õ H$mo ~‹T>mZo H$m EH$ hr VarH$m h¡ {H$ OZg§»`m H$s d¥{Õ 

H$mo {Z §̀{ÌV {H$`m OmE & Xþ^m©½`de, _Zwî`m| _| AnZr OZg§»`m H$mo ñdoÀN>mnyd©H$ KQ>mZo H$s 

EH$ gr{_V j_Vm hr hmoVr h¡ (H¥${Ì_ {ZamoYm| (Preventive Checks) Ûmam O¡go {H$ ~‹S>r 

C_« _| {ddmh H$aHo$ `m `m¡Z g§`_ aIH$a AWdm ~«÷M ©̀ H$m nmbZ H$aVo hþE gr{_V g§»`m 

_| ~ƒo n¡Xm {H$E OmE±) & _mëWg H$m {dídmg Wm {H$ AH$mbm| Am¡a ~r_m[a`m| Ho$ ê$n _| 

OZg§»`m d¥{Õ H$mo amoH$Zo Ho$ àmH¥${VH$ {ZamoY (Positive Checks) A{Zdm`© hmoVo h¢ Š`m|{H$ 

do hr ImÚ Amny{V© Am¡a ~‹T>Vr hþB© OZg§»`m Ho$ ~rM Ag§VwbZ H$mo amoH$Zo Ho$ àmH¥${VH$ Cnm` 

h¢ & CXmadmXr Am¡a _mŠg©dmXr {dÛmZm| Zo _mëWg Ho$ Bg {dMma H$s AmbmoMZm H$s {H$ Jar~r 

H$m H$maU OZg§»`m d¥{Õ h¡ & AmbmoMH$m| H$m H$hZm Wm {H$ Jar~r Am¡a ^wI_ar O¡gr 

g_ñ`mE± OZg§»`m d¥{Õ H$s ~Om` Am{W©H$ g§gmYZm| Ho$ Ag_mZ {dVaU Ho$ H$maU hmoVr h¢ & 

(A) OZg§»`m H$s d¥{Õ H$mo {Z §̀{ÌV H$aZo Ho$ {bE _mëWg Zo H$m¡Z-go H¥${Ì_ Am¡a 

àmH¥${VH$ {ZamoY ~VmE h¢ ?  2 

(~) CXmadmXr Am¡a _mŠg©dmXr {dÛmZm| Zo _mëWg H$s AmbmoMZm H$s & ì`m»`m  

H$s{OE &  4 
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Read the passage given below and answer the following questions : 

Population growth always outstrips growth in production of subsistence 

resources; hence the only way to increase prosperity is by controlling the 

growth of population. Unfortunately, humanity has only a limited ability 

to voluntarily reduce the growth of its population (through ‘preventive 

checks’ such as postponing marriage or practising sexual abstinence or 

celibacy). Malthus believed therefore that ‘positive checks’ to population 

growth  in the form of famines and diseases  were inevitable because 

they were nature’s way of dealing with the imbalance between food 

supply and increasing population. Malthus was also criticised by liberal 

and Marxist scholars for asserting that poverty was caused by population 

growth. Critics argued that problems like poverty and starvation were 

caused by the unequal distribution of economic resources rather than by 

population growth. 

(a) What were the preventive and positive checks suggested by 

Malthus for controlling growth of population ? 

(b) Malthus was criticised by the liberal and Marxist scholars. 

Explain. 
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